Fluency  
3/8 (or 375/100) 37.5%
0.4 40%
0.05 40% 0.45 5/10 3/5
35/100 or 7/20 
4/10 or 2/5
1/8 or equivalent
1/8 or equivalent
Jasmine ate the most
Imran and Oliver ate the least
Can’t see the other question!!
Reasoning 
Sam got the highest because 3/5 is the same as 60%
I agree because a decimal is parts of 1 and percentages is parts of 100
He could type in 1 divided by 4 which will give him 0.25. So he could use 0.25 to represent ¼ 
Problem solving 
First one replace all the blue squares with 1
Second one prelace the first blue square with 1 and the other two with 2
Third one replace all the blue squares with 3
£12 + £4 + £18 = £34. She needs another £66 and has 34%, 0.34 or 17/50 of £100 so far

